Practice EOCT I
(1) Scarcity can best be defined as the condition that exists when unlimited wants exceed

A   opportunity cost

B   limited productive resources

C   trade-offs


D   production capacity of a single nation

(2) The productive resource category of land includes which of the following types of resources?
A   human


B   capital goods

C   natural


D   man-made

(3) Which of the following can be considered a capital good?

A   a tractor


B   a factory worker

C   a chicken biscuit

D   a new home

(4) Which of the following would make society more productive?
A   Each individual makes the things they need for themselves.

B   Government allocation of resources and consumer goods.

C   Each individual produces items for which they have the highest opportunity cost.
D   Each person, business, and nation specializing in the production of items for which they have a comparative advantage over others.

(5) Which of the following economic concepts can be defined as the next best alternative given up when individuals, businesses, and governments confront scarcity by making choices?

A   trade-offs


B   opportunity cost

C   scarcity


D   rational choice

(6) Production possibility curves are used to illustrate the ____________________ of any production decision.
A   efficiency


B   opportunity cost

C   productivity


D   rationality
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(7) Using the above graph, determine the opportunity cost in terms of Tortillas if Mexico produces at point X.

A   600 Tortillas


B   400 Tortillas

C   1,000 Tortillas


D   1,150 Tortillas

(8) What could account for Mexico changing production from point X to point Z in the above graph?
A   Mexican workers have gone on strike.

B   Soil conditions have deteriorated in Mexico.

C   Mexico has been able to increase productivity through technology.

D   The United States is demanding more products from Mexico.
(9) Which of the following would represent a rational decision?
A   If a product becomes less expensive, then people will be more likely to buy the product.
B   If a product becomes more popular, then consumers will pay more for the product.

C   If the cost of producing a product increases, then producers will produce more of the product.

D   If the price of a product goes up, so people start buying more.
(10) Company A produces only corn dogs, while Company B produces only hamburgers. Which of the following basic economic concepts is represented by this situation?
A   opportunity cost

B   rational choice

C   voluntary exchange

D   specialization

(11) Both consumers and producers benefit when they are allowed to buy and sell freely. This concept is known as
A   comparative advantage

B   voluntary exchange

C   specialization


D   opportunity cost

(12) In a command economy, who decides what is produced?

A   consumers


B   the government

C   producers


D   the market

(13) In which of the following types of economic systems would consumers have the most power?

A   command


B   traditional

C   market


D   mixed

Vietnam is working hard to clean its rivers and streams from the pollution dumped there for years by numerous factories. The government has placed strict regulations on companies to prevent further polluting. These factories are still operating and are working hard to make a profit, though it is tougher due to the cost of following the government’s new regulations.

 (14) What type of economic system is depicted in the above passage?
A   command


B   traditional

C   market


D   mixed

(15) Which of the following types of economic systems would be most likely to provide economic equity?
A   command


B   traditional

C   market


D   mixed

(16) Which of the following types of economic systems would provide the most economic freedom?

A   command


B   traditional

C   market


D   mixed

(17) Which of the following is one of the roles of government in a market economy?

A   Providing consumer goods.

B   Resolving market failures.

C   Deciding what will be produced.

D   Owning all of the factors of production.

(18) Why does the government provide public goods and services in a market economy?

A   to make a profit

B   to compete with foreign corporations
C   some goods and services benefit everyone

D   some goods and services are very popular with everyone
(19) How would consumers and producers be impacted by an increase in government regulation of the oil industry?
A   Consumers would be protected, while the cost of production would increase for producers.
B   Consumers would lose protection, while the cost of production would decrease for producers.

C   Producers would gain protection, while consumers would have to pay more.

D   Producers would gain protection, while consumers would have to pay less.

(20) This economic concept can best be defined as the relationship of inputs to outputs.
A   cost-effectiveness


B   comparative advantage

C   productivity



D   opportunity cost

(21) A nation that invests in technology can expect
A   an increase in economic growth

B   a decrease in productivity

C   a lower standard of living

D   a lower quantity of consumer goods

(22) Which of the following would most likely lead to increase in productivity for a business?
A   hiring more employees




B   spending more on advertising

C   an increase in government regulations


D   spending more on capital goods and machinery

(23) Which of the following best defines human capital?

A   man-made goods used in the production process

B   the skills, education, and talents that give people value

C   the work that people do




D   goods available for sale to consumers
(24) Vietnam is a nation with a low standard of living and high levels of poverty. Which of the follwing would offer the most improvement to Vietnam’s current standard of living?

A   the government of Vietnam should invest more resources in education for their people

B   the government of Vietnam should develop a command economic system

C   the government should print large amounts of currency and distribute it to the people

D   the government should take control of all of the factors of production

(25) The graph that best illustrates the movement of money and resources in a market economy is known as

A   a production possibility curve



B   a circular flow diagram
C   a supply and demand curve



D   aggregate supply and aggregate demand

(26) In the Resource Market, producers purchase the factors of production from
A   businesses



B   the government

C   individuals/consumers


D   other nations

(27) Which of the following is moneys primary role in our economy?
A   convertible currency


B   transferable value

C   tool of bartering


D   medium of exchange

(28) Piggly-Wiggly decides to raise prices on ground beef by $.50 a pound. After two weeks, Piggly-Wiggly realized that sales of ground beef had dropped significantly. What basic economic principle is illustrated by this example?

A   Law of Demand


B   Law of Supply

C   Opportunity Cost


D   Diminishing Marginal Utility
(29) If the price of gas goes up, then the quantity of gas supplied by Exxon and other gas producers will also go up. What basic economic principle is illustrated by this example?

A   Law of Demand


B   Law of Supply

C   Economic Interdependence

D   Diminishing Marginal Utility 

(30) Which of the following is most likely to occur if the selling price of movie theatre popcorn increases from $2.50 to $4.00?

A   consumers will demand more and producers will supply more

B   consumers will demand more and producers will supply less

C   consumers will demand less and producers will supply more

D   consumers will demand less and producers will supply less
(31) The market clearing price is set through a process where
A   consumers and producers are both trying to find the highest possible price

B   consumers and producers are both trying to find the lowest possible price

C   consumers are trying to find the highest possible price and producers are trying to sell at the 
      lowest possible price

D   consumers are trying to find the lowest possible price and producers are trying to sell at the 
      highest possible price

(32) Which of the following acts as an incentive for both consumers and producers in a market economy?
A   savings



B   prices

C   trade-offs



D   the government

(33) The price of toilet paper has increased almost $.30 per roll. Even so, the sale of toilet paper has barely changed. Knowing this, which of the following would be correct?

A   the supply of toilet paper is inelastic

B   the demand for toilet paper is inelastic

C   the supply of toilet paper is elastic

D   the demand for toilet paper is elastic

(34) Because it would take a great deal of time for a car maker to increase the production of cars, the supply of cars is probably

A   elastic.



B   inelastic.

C   in demand.



D   over produced.
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(35) In the above graph, what is the equilibrium price for product X?
A   400



B   450

C   $50



D   $10

(36) The above graph illustrates the supply and demand for a given product. Which of the following would be true if the government set a price ceiling at $10.00?

A   there would be a surplus of 400



B   there would be a shortage of 800

C   supply and demand would be equal


D   there would be a shortage of 400

(37) Examine the above graph one more time. Which of the following would be true if the government set a price floor of $90.00?

A   there would be a surplus of 400



B   there would be a shortage of 800

C   there would be a surplus of 800



D   supply and demand would be equal 

(38) Price elasticity of supply can best be defined as
A   the amount supply change with price

B   the ability of demand to respond quickly to a change in price

C   the speed at which consumers can make changes in their lifestyles to respond to price

D   a suppliers ability to advertise the price change to consumers


(39) In the graph to the right, what could have caused the change from S1 to S2?
A   the price of the product has increased




B   the price of the product has decreased

C   the cost of inputs have increased




D   business taxes have decreased

(40) In the graph on the right, what could have caused the shift from the original to the new demand curve?

A   the price of the product has increased


B   the price of the product has decreased

C   income levels have declined


D   the population has increased

(41) What is the key advantage that corporations have over both sole proprietorships and partnerships?
A   limited life




B   limited liability

C   unlimited liability



D   profit motive

(42) Which of the following is a disadvantage of owning a sole proprietorship?

A   limited life




B   limited liability

C   proprietor keeps the profits


D   personal satisfaction

(43) What is the primary incentive for entrepreneurs to meet consumer demand in a market economy?

A   government regulation



B   religious beliefs

C   profit





D   insurance

(44) ACME Bread, Inc. makes bread and pastries. They have numerous competitors, but still get to charge a fairly high price because their quality is high and their items have different flavors than their competitors. What type of market structure does ACME Bread, Inc. compete in?

A   pure competition



B   monopolistic competition

C   oligopoly




D   monopoly

(45) John is a farmer from Ephesus. He grows corn on his farm. If the market structure for corn growers is pure competition, then which of the following would be true?

	A
	John can improve his corn to make it better than his competitors.
	
	

	B
	John will set his own price.
	
	

	C
	John will be unable to control the price of his corn.

	D
	John will always be able to sell his corn for a profit.


Answers Key

(1) B
SSEF1 – a

(2) C
SSEF1 – b
(3) A
SSEF1 – b

(4) D
SSEF1 – c
(5) B
SSEF1 – d

(6) B
SSEF2 – a
(7) B
SSEF2 – a

(8) C
SSEF2 – a
(9) A
SSEF2 – b
(10) D 
SSEF3 – a
(11) B
SSEF3 – b
(12) B
SSEF4 – a
(13) C 
SSEF4 – a

(14) D
SSEF4 – a
(15) A
SSEF4 – b
(16) C
SSEF4 – b
(17) B
SSEF5 – a
(18) C
SSEF5 – a
(19) A 
SSEF5 – b
(20) C
SSEF6 – a

(21) A
SSEF6 – b
(22) D
SSEF6 – b
(23) B
SSEF6 – c
(24) A
SSEF6 – c

(25) B
SSEMI1 – a
(26) C
SSEMI1 – a
(27) D
SSEMI1 – b
(28) A
SSEMI2 – a
(29) B
SSEMI2 – a
(30) C
SSEMI2 – a
(31) D
SSEMI2 – b
(32) B
SSEMI2 – d
(33) B
SSEMI3 – c
(34) B
SSEMI3 – c
(35) C
SSEMI2 – c
(36) B
SSEMI3 – b

(37) C
SSEMI3 – b

(38) A
SSEMI3 – b
(39) C
SSEMI3 – a
(40) D
SSEMI3 – a

(41) B
SSEMI4 – a
(42) A
SSEMI4 – a
(43) C
SSEMI4 – b
(44) B
SSEMI4 – c
(45) C
SSEMI4 – c
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